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URE11.1 | PROBLEM SOLVING

\ 1

Imagine thit you are the person standing i the midele of this voom, in which two strings are hanging down from the cerling. Your goal is to 1t
together the twn strings, but neither stying 1 long enough so that you can veach ot and grab the other string while bolding exther of the two
strings, You have available a fow clean patntbrushes, a can of paint, and a beavy canvas tarpaulin. How will you tie together the nwo strings 2
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THE HAT-RACK PROBLEM

Using just the materials shown bere, how can you construct a hat vack in the room shown in tbis figure?
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Many peaple assume that they must find a way to move themselves toward each string and then bring the two sirings together. They
fail to consider the possibility of finding a way to get one of the strings to move toward them, such as by tying something to one of the
strings, then swinging the object as a pendulum, and grabbing the object when it swings close to the other string. There is nothing in
the problem that suggests that the person must move, rather than that the string may move. Nevertheless, most people presuppose that
the constraint exists. By placing an unnecessary and unwarranted constraint on themselves, people make the problem insoluble.
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Were you able to modify your definition of the materials available in a way that aided yox in solving the problem?
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1901-10 | 39.4 38.0 35.2
1911-20 | 38.8 36.5 34.8
1921-30 | 40.6 33.8 42.3
1931-40 | 43.9 33.3 38.1
1941-50 | 44.2 34.8 40.0
1901-50 | 41.9 35.4 38.3
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